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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following. [10]
1)  The term “WIPO” stands for:-
a)  World Investment policy organization
b)  World intellectual property organization
c)  Wildlife Investigation and Policing organization
i)  Every year since 1982, has been celebrated as consumer

day.

a) 15 March
b) 16 March
c) 18 March

) A person who buys goods/services for a compensation is called a
under section 2(7) of the ‘Consumer Protection Act’.

a) Trader
b) Consumer
c) Supplier
iv) Legal Heir of Deceased

a) Successor

b) Wife
c) Attorney

v) Property is visible and in form.
a) Variable

b) Immovable

c) Invisible

PTO.



vi) An agreement enforceable by law is a
a)  accepted offer
b ) approved promise
c) contract

vil) When the negotiable instruments are not accepted or paid, it is considered

asa  ofnegotiable instrument.
a) Honor
b) Dishonor
c) To cash
vil)  1is the right granted to the creator of a work of literature under

‘Intellectual Property Rights’
a) Trademark
b) Patent
c) Copyright
ix) The Indian Contract Act, 1872, came into force on
a) 1st September 1872
b) IstJanuary 1872
c) 15th August 1872
x)  Which of the following is not an intellectual property law?
a) Copyright Act, 1957
b) Customs Act, 1962
c) Trademark Act, 1999

X1) is an e-commerce model which focuses on consumers dealing
with one another.

a) Business to Business
b) Consumer to Consumer
c) Consumer to Business

xil) The rights of a patentee are
a) Sell or distribute
b) License
c) Assign the property to others
d) All ofthe above
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02) Attempt any five out of seven from the following. [25]

a) Explain Essential Elements of the valid contract.
b) Difference between Limited Liability Partnership and Partnership Firm.
c) What are the characteristics of contract?
d) What are the types of partners?
e)  Write the functions of digital signature.
f)  What is dissolution of partnership?
g) Explain Characteristics of trademarks.
03) Attempt any five out of seven from the following. [25]
a)  Write short not State consumer protection council.
b) Explain the rights of unpaid seller.
c) What are the legal issues involved in E-Contracts.
d) Explain ‘Sale’ and ‘Agreement’ to sale?
e) Whatare the advantages of LLP? (Limited Liability Partnership)
f)  State the meaning and importance of Intellectual Property Rights
g) Explain powers of Arbitrator.
04) Attempt any one out of two from the following. [10]
a) Explain the three-tier consumer’s Disputes Redressal Commissions.
b) Give the definition of ‘The Negotiable Instruments’ and explain the features

of ‘The Negotiable Instruments’.
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Instructions to the candidates:

D
2)
3)

01) A)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

Multiple choice questions. (Any five) [5]

a)

b)

d)

AS 3 stand for

1)  Fund flow statement

1) Cash flow statement

i) Lease accounting

iv) Accounting for government grant

Reconstruction refers to the reduction of capital to cancel
any paid up capital.

1)  External 1) Internal
i) Amalgamation iv) Absorption

Banking companies in India are governed by

1)  Asperact 1932 1) Income tax act 1961

i) As per act 1972 iv) Banking regulation act 1949
Interest paid and payable comes to the  Side of Profit and
Loss Account.

1)  Expenditure 1) Receipt

i) Interest iv) Income

PTO.



Branch which does not maintain its own set of books 1s known as

1)  Dependent Branch i) Independence Branch
i) Foreign Branch iv) Local Branch
f)  Which of the following ratio measuring the short-term solvency
1)  Solvency ratio 1) Liquidity ratio
) Activity ratio iv) Profitability ratio
B) State whether the following statement is True or False (Any five)  [5]
a) AS 12 stands for Accounting for Government Grants.
b) A company must passed special resolution for capital reduction.
c) Company want to liquidation after internal reconstruction.
d) Banking company transfer 20% profit to Statutory Reserve.
e) Investment held to buy or sale is known as current investment.
f)  Sales return will not appear directly in the branch. account under
the Debtors system.
02) Attempt any five out of seven from the following. [25]
a) What are the objectives of the accounting standards board?
b) State the types of Capital Restructuring.
c) Write a short note on ‘Capital Adequacy Ratio’.
d) Explain the term ‘Cum-Interest’ and ‘Ex- interest’.
e) State the fundamental objective of ‘Forensic Accounting’.
f)  State the objective of ‘Ratio Analysis’.
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g) From the following figures, calculate the creditors’ Turnover Ratio and
the average of accounts payable:
Particulars N
Credit purchase during 2018 1,00,000
Creditors on 1% Jan. 2018 20,000
Creditors on 31% Dec.2018 10,000
Bills payable on 1% Jan. 2018 4,000
Bills payable on 31% Dec. 2018 6,000
03) Attempt any five out of seven from the following. [25]
a)  Write a short note on-AS 19: leases.
b) Difference between Internal Reconstruction and External Reconstruction.
c)  Write a short note on Contingent liabilities.
d) What are the types of consumer Co-Operative Societies?
e) Write a short note on accounting for Corporate Social Responsibility.
f)  Define the term Branch. State the features of Dependent Branch.
g) The following are the ledger branches extracted from books of banking

company as on 31 March 2021:

Advances %15, 00,000

Bad debts ¥10,000

The profit before charging Bad Debts was 340,000

Create provision for Bad debts for 15,000 and Provision for Taxation
at 60% of net profit.

Show how the above items will appear in the Banking Company Profit
and Loss Account and the Balance Sheet.
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04) Attempt any one out of two from the following.

[10]

a) Explain the meaning, objectives and assumptions of the IFRS.

b) M/s Shreya Traders, has a branch at Nanded. The Head Office invoices
goods to branch at cost plus 33.33%. The branch transfer all cash received
to Head Office daily. All branch expenses are paid by Head Office.

From the following details for the year 2021-22 prepare Nanded Branch
Account, Branch Debtors Account & Branch Petty Cash Account as it

would appear in Head Office book:

Particualrs Amount Rs.
Branch Stock on 1-4-2021 (at Invoice Price) 1,20,000
Branch Debtors on 1-4-2021 30,000
Branch Petty Cash on 1-4-2021 4,000
Goods sent to Branch (at Invoice Price) 4,20,000
Goods return to head office (at Invoice Price) 36,000
Cash Sales 66,000
Discount Allowed to branch debtors 9,000
Bad debts written off 6,000
Goods return from debtors 3,000
Cash received from debtors 2,40,000
Credit Sales 3,00,000
Cheque received from head office for expenses:

Salaries 24,000
Rent & Taxes 8,000
Advertising 10,000
Petty Cash 6,000
Actual petty expenses incurred by the branch 7,000
Branch Stock on 31-3-2022 (at Invoice Price) 1,32,000

otooloedesde
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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten questions. [10]

a) Planning Commission of India was established by which among the
following
(Act of Parliament, Presidential Order, Presidential Ordinance, Cabinet
Resolution)

b) Economic Survey is published by
(Ministry of finance, Planning commission, Govt. of India, Indian statistical
institute)

c)  Which of the following will not some under the proposed GST in India
(Agricultural products, Handicrafts, Gems and Jewelleries, Petroleum
products)

d) Mixed Economy means an economy where
(Both agriculture and industry are equally promoted by the state,

There is co-existence of public sector along with private sector,
There is importance of small scale industries along.with heavy industries,
Economy is controlled by military as well as civilian rulers)

e) India’s unemployment is estimated by
(Finance Ministry, RBI, NSSO, ISO)

f)  How much is One US Doller to Indian rupee
(77,79, 83, 90)

g)  Who is the SAARC union member?

(Nepal, China, Russia, America)

h) Government has merged Annapurna Scheme with

(National Old Age Pension Scheme, Ujjwala, IRDP, None of these)
PTO.



1)  In Global Hunger Index 2023 (GHI) India has been ranked at:
(96th place among 119 developing countries, 111th place among 125
developing countries, 115th place among 116 developing countries, 109th
place among 117 developing countries)
j)  ICICI Headquarters
(Mumbai, Chennai, Pune, Delhi)
k)  The first industrial policy was announced by the government of India in
year
(1947, 1948, 1946, 1949)
)  The world bank was established in the year
(1945, 1944, 1947, 1943)
02) Attempt any five questions: [25]
a) State the importance of Industrialization in Indian Economy.
b) State the role of foreign capital in Indian Economy.
c) Explain the objectives of World Bank.
d) Explain the difference between developed and developing countries.
e) State the Functions BRICS.
f)  State the problems of small industries developments in India.
g) State the functions of International Monetary Fund.
03) Attempt any five questions: [25]
a) State the significance of agricultural sector.
b) State the role of infrastructure in economic development of India.
c) Explain the concept of balance of payment.
d) State the role of Human Resources in Economic Development.
e) State the Types of Foreign Capital.
f)  State the Functions SAARC.
g) State the causes of low productivity of Indian agriculture.
04) Attempt any one question: [10]
a) State the characteristics of Indian Economy.
b) Explain the Causes of Unfavorable Balance of Payment.

VOOV
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I nstructions to the candidates:

All question are compulsory.

Figures to the right indicate full marks.
Use of Calculator is allowed.

1)
2)
3)

Ql) A)

Fill intheblanks (Any Five) [9]
1)  Auditing beginswhere  ends.
a Sdling b) Accounting
c) Production d VYea
i) __ objective of an audit is to detect fraud and errors.
a Primary b) Secondary
c) Third party d) Interna
i)  The first auditor of the company is appointed by the
a CAG b) Central Government
c) Board of Directors d) Management
IV) Income tax is atax on
a Income b) Capita
c) Turnover d) Expenditure
v) PAN means

Vi)

Vi)

a Partial Account Number b) Saving Account Number
c) Permanent Account Number d) Parent Account Number
Voucher relates to :

a Cashreceipt b) Credit transactions

c) Cash payment d) All of theabove
The term HUF stands for
ad  HinduUnified Family b) HumanUndivided Family

¢) HinduUndivided Family d) HumanUniform Family

PT.O.



B)

True or False Statements (Any Five) [9]
a) Audit certificateissimilar to audit report.

b) Forensic Audit is associated with the investigation of accounting
fraudsor financia manipulation.

c) Goodwill isthe example of fictitious asset.

d) HouseRentAllowanceisfully taxable.

€) Previousyear can be more or less than 12 months.

f)  TDS means tax deducted at source.

g) Auditor does not require to follow the Generally Accepted Audit

Procedure.
Q2) Attempt any Fivefromthefollowing [25]
a Types of Errors
b) Rightsof Auditor
c) PreviousYear & Assessment Year.
d) Internal Audit
e) Audit Certificate
f)  Agricultural Income
g) Short Term & Long-Term Capital Gain
Q3) Attempt any Fivefromthefollowing [25]
ad Explainthe Dutiesof acompany Auditor
b)  Write short note on Vouching.
c) Whatismean by Internal Control System?
d) What isanAudit Program? Write the Advantages of Audit Program.
e) State Perquisites under Income from Salary.
f)  How to calculate Annual Value of let out House Property?
g) Explain Deduction u/s80D.
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Q4) Attempt any One from the following. [10]
ad DefineAudit. Explain varioustypes of Audit.

b) Mr. RamkumarisaworkinginBajg Ltd Company. Hissalary detailsare
asfollowsfor the Assessment year 2024-25

) Basic Salary 40000 pm

i) DA 1000pm

i)  Commission 500 pm

Iv)  Bonus 10000 pa

v) Education Allowance 400pm (One son studying in a school)
vi) Gift from employer in cash 5000

vii) Professiona Tax paid 2500

Compute the taxable income from sal ary.

L A 4
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Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Multiple Choice questions. (Attempt 10 out of 12) [10]
a) Purpose, Objectives, Responsibilities of the work are
1)  Job description i)  Job specification
i) Jobevaluation iv)  Job control

b)

d)

LMS stands for
1)  Learning Management System
1) E-Learning System

i) Local Learning System

iv) HIRS

Retired employees are a source of recruitment.
1)  External 1)  Institutional

i) Governmental iv)  Internal

Hiring the right person at the right job means
1)  Recruitment n)  Selection

i) Interview 1v)  Training

The first step in career development is

1)  Self-evaluation i)  Recruitment
i) Development 1v)  Stability
Graph Scale Rating also called as

1)  Likert scale method

i) BARS method

1) Critical incidence method

1v) Forced choice method

PTO.



g)  The concept of Management by Objectives (MBO) cameinto ____
) 1952 ) 1954
i) 1957 iv) 1960

h) Exchange of money for goods or services is called
1)  Sales 1)  Marketing
) Advertising 1v)  Promotion

1)  Proposed of marketing mix concept
1)  Peter Drucker i)  Philip Kotler
i) Jerome McCarthy 1iv) Neil Borden

) The promotion of a product or service to a market segment is called
1)  Group marketing 1)  Target marketing
i) Segment marketing iv) Concentrated marketing

k) Included in the product life cycle
1)  Availability of natural resources
1)  Processing of raw materials
i) Manufacturing of products
1v) All of the above

1)  Promotion of environmentally safe products and services is
1)  Marketing 1)  Social marketing
i) Personal marketing 1v)  Green marketing

Q2) Answer the following questions (Any 5 out of 7). [25]

a) Briefly explain the importance of Human Resource.

b) State the components of recruitment process.

c¢) Explain the objectives of the training.

d) State the benefits of career counselling.

e) Explain the function of Marketing.

f)  Explain the factors affecting marketing mix.

g)  Explain the importance of advertisement.

[6324]-45
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03) Answer the following questions. (Any 5 out of 7) [25]
a)  Explain the stages of human resource planning.
b) Explain the importance of job analysis.
c) State the types of interview.
d) Explain the benefits of Performance Appraisal.
e) Explain the types of market.
f)  Explain the advantages of Mass marketing.

g) Explain the types of Branding.

04) Answer the following questions. (Any 1 out of 2). [10]
a) Explain in detail the types of Performance Appraisal.

b) Explain the methods and steps of Market Segmentation.
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i) fooom i) @t fouue
iil) Saferen feaum iv) gfa fuom

9.2) @reiiet veieh s @ (7 9 5) [25]

A)  HE TEUATE A ATSaTd T .

F) WA URA geeh |

®) wieOTE SRR wE W

Z) HRHIE THIGIHTS WRIG |

3) R wE W«

%) foauum fser aRum FRom Tew wE w=.

) AR HES WY .
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¥.3) @refter wsareh s . (7 §R 5) [25]
H) AES GEEA FEE™ Tn WY 0.
) wHE AT TEe T WL
®) oG TR TR,
T) HEHA eI WEE n.
3) SR YRR GRT.
%) ug fauuE wEe W@ w5
T) R THR T &

Y.4) @refier gsar=hi SW . (2 9t 1) [10]
)  HETAT GoAThATe JehR Wi T8 .
q) TR WS Ugdl 9 e SE L
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Total No. of Questions : 4] SEAT No. :
PC2723 [Total No. of Pages : 6
[6324]-46
T.Y.B.Com. (SODL)

305 B : BANKING AND FINANCE - 11
(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

0l) Attempt any ten out of twelve from the following. [10x1=10]

1)  Bonds do not include the following elements.

a) Mutual fund b)  Security Receipts
¢) Commercial letters d) Derivative Instruments
11) Means a market in which long term debt and long

term instruments are traded.
a) Coin market b) Capital Market
c¢) Foreign market d) Financial services

i) It means a market where short - term and day - to - day transactions

take place.
a) Capital market b)  Coin market
c) Foreign market d) Financial service

iv) Reserve Bank of India started repo system on
a) 10 December 1992 b) 20 December 1992
c¢) 10 December 1993 d) 10 December 1996

v) A system that converts one national currency into another national
currency 1is

a) Foreign exchange marketb) Capital market

¢) Coin market d) Bond market

PTO.



vi)

Vil)

Viil)

[6324]-46

The Reserve Bank of India in the year Indian banks were
given the freedom to carry out day-to-day foreign exchange
transactions.

a) 1980 b) 1978

c) 1970 d) 2000

A specialized financial institution is none of the following.
a) Industrial Finance Corporation of India

b) Performance appraisal

c) State Financal Co - operation

d) Unit Trust of India

NSE stands for

a) National Stock Exchangeb) Mumbai Stock Market
c) National Market Part d) Reserve Bank of India

is the persons or organizations who deal in buying
and selling of dowry in countries are called Vipatra Dalal.

a) Letter broker b) Block
c) Brokers d) Bond holders

means where securities and commodities are traded
in the form of bonds.

a) Marketing b) Dalal
c¢) Bond holder d) Bond market
a market is an agreement to transact at a fixied future
price.
a) Futures market b) Bond market
c) Capital market d) Foreign market

Reserve Bank is headquartered at
a) Mumbai b) Delhi

c) Nagpur d) Pune



02) Attempt any five out of seven from the following. [5x5=25]
a)  Explain the Meaning and Definition of Indian Financial System.
b) Explain objectives of Indian money market.
¢) Explain the function of Indian capital market.
d) Explain the function of foreign exchange market.
e) Write the short note on Bombe Stock Exchange (BSE)
f)  Explain the types of stock trading.
g) Explain the difference between bank and NBFIs.

03) Attempt any five out of seven from the following. [5x5=25]
a) Discuss the SEBI.
b) Explain the objectives of IRDA.
¢) Explain the mutual fund.
d) Explain the types of order.
e) Explain the merchant banking.
f)  Explain the objectives of foreign exchange market.

g) Explain the function of Indian money market.

04) Attempt any one out of two from the following. [1x10=10]

a) Meaning and Definition of Indian Capital Market. Explain the Objective
of Indian Capital Market?

b) Explain the Small Capital, Medium capital and Large capital Companies.
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Total No. of Questions : 4]

PC2723
[6324]-46
T.Y.B.Com. (SODL)
305 B : BANKING AND FINANCE -11
(2019 Pattern) (Annual System)
(TS EUTR)
e - 3 M/ [ T 70

e~ 1) HE Uy HiSieut SAeEeh .
2) ITAREA 3k YA YUI U7 geiterard.

Y. 1) Wrefietieht shivmgt 10 99 drean. [10x1=10]
) AW YEe Teeh qEEY g .
H) THINA ®E T) &N uTEen
%) AU o= 3) o e
) rrerrennn TEUTS ST SITSTR <hl, ST STSTRIA Srel e o shafteit STTUT &rel Haatea
TYATE FET0T — HSAT0T et .
H) A0 AR q) WETA aeR
®) UThHE aNR g) fFeriraen
) eeeeeeeeennn, U TET ISR g <hl, JY AT SATUT S SFaeR adrd.
A) HIETA AR ) A0 ENR
®) UThHE aNR g) ferxiraen
iv) o e o e TSt Yt Ugedt g6 hel
) 10 f=E=r 1992 &) 20 fwsr 1992
%) 10w 1993 ) 10w 1996
V) U TEE e gE TP T SUTR SHEOTRE SO R .o .
HA) WHT I TR q) WEad IR

&) 0 TR g) IW aONR



W @ad o
31) 1980 ) 1978
&) 1970 3) 2000

vii) ferordiera faxia Teen EelicTeh! ST ATel ?

%) Uea fordia wETEs 3) i gfe g
viii) NSE UMt ...
) I WA SR ) HaE UW TR
%) THE AR 9 g) fErd o am
ix) v SR fohan ween quTmed 6 T 9 forhil e At @ G|
TEUTTA.
?) U gee ) T
®) T ¥) W UNH
X)  eeereeneene wgurst fret ferexelt anifon sreen SR IRS TEUR et Sl
) fauom ) T
®) Q@ URh g) W IR
Xi)  eeeeerennnnn TR Ut Afesama Ffvaa shetean feRadien sragr svamen SR Shet
A,
H) e IR F) QAN
) WEaA ISR ¥) UWEHT IR
xii) Fered R g ... AY IR
) g w) foeelt
®) HARTR g) U
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¥.2) Wreiictiehl shivtdgl 5 T3 T [Sx5=25]
) R i e 31l 3T SRE WY .
) R g1 SR 3R wE .
F) HRAE WETE! SR 6 T w0
T) WHA I TR HE WL F.
3) HaE AW TR aer (BSE) fu foran.
W) Wi ISR YRR TE .
) &k snfur NBFI uefiet vk T02 .
¥.3) Wiciicti<hl Shivtdgl 5 997 Hrea. [Sx5=25]
1) a«t (SEBI) amer == .
q) IRDA =i 3fe® W «.
&) wFIE ®e (Mutual Fund) w0 &
3) IS THR WE FA
Z) WIS TR T8 .
F) R T SR 3RS T w6
q) AR G AR R W

Y.4) TieiicTaeh! ShivTdrgl | T9 Jrear. [1x10=10]
HA) WRAE HiSTel TSR 3720 10T ST GRT. WRA™ Higdel! aeR 38 W
HA?

F) Y WSTA, AYTH WISTA MU HIS WISTA Hu-t T .
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Total No. of Questions: 4] SEAT No. :

PC2724 [Total No. of Pages: 6

[6324]-47
T.Y.B.Com. (SODL)
305C : BUSINESSLAW & PRACTICES-II
(2019 Pattern) (Annual System)

Time: 3Hoursg] [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Fill intheblank with the most appropriate alternative (any 10) [10]

a The was one of the earliest forms of |abour regulation during the
British colonial periodin India
)  TradeUnionsAct
i) FactoriesAct
i)  MinesAct
Iv)  Industrial DisputesAct

b) The Labour Policy of India aims to promote
)  Corporate profits
i)  Worker welfareand industrial harmony
i)  Foreigndirect investment
Iv)  Agricultural productivity

c) LabourlawsinIndiaaregenerally classified into categories.
) Two i) Three
i) Four Iv) Five

d) A practicewherean employer dismissesan employeefor union activity is
termed as
)  Justified dismissal i)  Unfair [abour practice
i)  Standard procedure Iv) Legal action

€) Theterm “unorganized sector” primarily refersto

1)  Multinational companies

i) Informal, unregistered employment sectors
i)  Government employment

Iv) Large-scaeindustries

PT.O.



f)  TheMinistry responsible for labour laws and employment in Indiaisthe
)  Ministry of HomeAffairs
i)  Ministry of Corporate Affairs
i)  Ministry of Labour & Employment
V)  Ministry of Finance
g) The Factories Act, 1948, ensures provisions regarding
1)  Employment contracts
i)  Workers' health and safety
i) Incometax
Iv)  Employee promotions
h)  Theauthority responsiblefor thelicensing and registration of factoriesis
the :
i)  Labour Court
i)  Chief Inspector of Factories
i)  Environmental Protection Agency
Iv) TradeUnion Registrar
1)  TheEmployees State Insurance Act, 1948, provides benefitsfor
1) Industria growth
i)  Workers health, maternity, and accidents
i) Infrastructure development
Iv) Corporate governance
J)  TheEmployeesProvident Fundsand Miscellaneous ProvisionsAct, 1952,
primarily dealswith .
1)  Employeeperformance
i)  Retirement and pension funds
i)  Healthinsurance schemes
Iv) Educational loans
k) The development of company law in India began with the enactment of
the :
)  CompaniesAct, 1956 i) PartnershipAct, 1932
i) Sale of GoodsAct 1930 Iv) Indian Contract Act, 1872
)  The Cadbury Committee Report is a significant document in the field of

1)  Labourlaw i)  Corporate governance

i) Environmental law Iv) Taxationlaw
[6324]-47 2



Q2) Answer the following questions (Any 5 questions, 5 marks each) [25]

a) Describethe history and evolution of labour lawsin India.

b) What arethe main objectives of the Labour Policy of India?

c) Explaintheclassification of labour lawsin Indiaand providean overview
of each category.

d) Defineunfair [abour practices and provide examples of such practices.

e) Discussthechalengesfacedinimplementing labour lawsin the unorganized
sector.

f)  Explaintherolesand responsibilities of the Chief Labour Commissioner
inlndia

g) Discussthe key provisions regarding workers' health and safety under
the FactoriesAct, 1948.

Q3) Short notes (Any 5 questions, 5 marks each) [25]

a Licensing and registration of factories under the FactoriesAct, 1948.

b) Rolesand duties of inspecting staff under the Factories Act, 1948.

c) Benefitsprovided under the Employees State Insurance Act, 1948.

d) Contributions and recovery of contributions under the Employees State
Insurance Act, 1948.

€) Employees Pension Scheme under the Employees Provident Funds and
Miscellaneous ProvisionsAct, 1952.

f)  Magor amendmentsin company law in Indiasinceitsinception.

g) Prevention of oppression and mismanagement under company law.

Q4) Answer the following questions (any 1 question) [10]

a) Discusstheobjectives, scope, and constitutional validity of the Employees

Provident Funds and Miscellaneous ProvisionsAct, 1952.
OR
b) Explainthe concept of corporate governance, including the principles of

morality and business ethics, as highlighted in the Cadbury Committee
Report.

POO®

[6324]-47 3



Total No. of Questions: 4]

[6324]-47
PC2724 T.Y.B.Com. (SODL)

305C : BUSINESSLAW & PRACTICES- I
(2019 Pattern) (Annual System)

(TS EUTR)

e : 34| [ wsgut U1 : 70
o - 1) HE UH W SEvEs IR
2) STErREA 37k WIS Ui U7 gUifaETa.

. 1) ek STm ane v W@ (Shivtagt 10 99, I ggmrst 1 Ton) [10]
A) e 7 fafew siufraimes werdier wrardier sm Famaren @ata TRittes JeriteR!
T .
) ge e wEa i)  wRER e
i) o iv) siteifies fame s
§)  WRATE W R .......... TeETE 0™ 3R ..
i) URe Aw ii) AT whewmor nfot sitenfie TeEn
jii) o Ul EEvE iv) St Seargehar
F) HRATA SH HEG THEAD: ..o T aiieha hel STTaTd
i) am i) @
) =w V) U=
B) WA MR TEel TRATRATIETS! FHATETAT Higd TRt e .......... e WM.
i) = g TR
i) STITIRRE 9™ agdt
iii) e wfekan
V) ey wRaTg
3) orEEied & T IR HEA ... Hafiia sl
) =g e
i)  arienies, Aiguiithd THe TR &
jii)  TREE AR



i) hUNe SHEER A"
i) om Sfor AR W

iv)  ael HeTeE

T)  wREH &Ee, 1948 .. et agal iy st
) TR =R i) RTETRI SRR 3TfuT FReT
i) S W ivV) RHE ueEd

) HREFIE WEHT T AUl Hareer Tmieemo ............ 3R

1) oW e
i) gea Fes wraEm
i) oETaRoT EXeTUT USEL

V) g gfam R

@) e uea fom e, 1948, TS H TS HLl.
i) Sfrenfies o i) HTRETR TR, S, STfoT sraed
jii)  reneyg glaen forewm V) RiUNE S9TEH

9)  wHu wioss faig feh enfor fafay g ww==n, 1952, g&ad ... G
3R,
) wHO wEe i) ferit snfor o fsht
jii) s fermm e iv) Werures st

d)  YRATdier ot e e = S g% e

iii) wretesh srfafEm, 1930
V) WRdE R AtfEm, 1872
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¥.2) @reitet 94 3w 2. (FRivrgl 5 93, Tk At 5 o) [25]

)
)
%)

%)

WRAT 21 sk sfagr anfur e soia w6,

YRATSAT 91H RO Y& 38 & 3a ?

WRATATA SH HIEET SRIRTIT TR R SAI0T Tedieh SIUTi STeTe .
TR W Usgdi<h SIREAT sl SATUT 379N Usgdi<h 3aTgeul o,

HETEA ST AW HIEETH HAATATAV AT JUTT HTEHIER Tt .
HRATA TE&A HH IR HIHHT VT TATEET=N T .

HEH HEET, 1948 Siaria HERTRIE R ST Guiedae J&a Tgaiaed i
0.

¥.3) fem fergr. (vt 5w, geiss wgmanst 5 on) [25]

H)
)
%)

3)

HREA HEET, 1948 3iia HREHT WaET ST iauf,

FHRE HEE, 1948 sima flfteror swe=maren qies ST e,
FHHa Ta o wEEt, 1948 siaria 98 el W,

et o feren <hrerE, 1948 sierta ATEM St dvre age.

FHuar s fFatg felt snfon fafay wged wmer, 1952 siaria wHant U9 JET.
URAT U SHIFETAT GEATAURT Higa Jaa.

THU HIFETAR GHA ST TREERUTTA TGl

¥.4) Erefier ggren W . (Hiorad 1 99, I gt 10 Tor) [10]

)

)

FHuat wiers fatg feft snfo fafare aget wermr, 1952 = sk, am, sufun gerwes
YR Tl H.

e
HIUNE TIEATRN TeheU=T TTE Hl, AT Afdehdl SATUT SATETR—R TA9mE I aw
THIAY R, S8 Head wHd Ruenasd sremfad et 3.

POOD
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Total No. of Questions : 4] SEAT No. :
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Time : 3 Hours|

[6324]-48 [Total No. of Pages : 4

T.Y.B.Com. (SODL)

30SE : COSTAND WORKS ACCOUNTING-II

(2019 Pattern) (Annual System)

[Max. Marks : 70

Instructions to the candidates:

D
2)
3)

01) A)

All questions are compulsory.

Figure to the right indicates full marks.

Use of calculator is allowed.

Multiple choice questions. (Any five) [5]

a)

b)

d)

In job costing each job is treated as a separate
i)  Cost centre i)  Account

i) Cost unit iv) Overhead

In contract costing, the total loss if any is transferred to
account.

i) TradingA/c i)  Costing Profit & Loss A/c
i) Contract A/c iv) Contractee A/c

Skimmed milk and butter are the example of product.

i)  Finished i) Main

i) Joint iv) By

The cost unit in passenger transport industry is
i)  Per passenger i) Per trip

i) Perkilometre iv) Passenger per kilometer

PTO.



Service costing is also called as

1)  Job costing 1) Batch costing
i) Contract costing 1v) Operation costing.
f)  Wages of store keeper is an example of
1)  Factory overheads i) Office overheads
ii)) Selling overheads iv) Indirect Wage
B) State whether the following statement is True or False (Any five)  [5]
a) Supplementary cost are also term as overheads.
b) Absorption is nothing but charging of overheads to cost units.
c) Activity best costing is an alternative to process costing.
d) Operating cost sheet is the essence of job costing.
e) Job cost sheet may be used for estimating profit of jobs.
f)  Contract costing is a method more suitably is used in ship buildings.
02) Attempt any five out of seven from the following [25]
a) Explain the Classification of Overheads.
b) Difference between Allocation & Apportionments.
c) Mention the various types of Capacity Levels.
d) Write short notes on-Cost Pool & Cost Drivers.
e) Explain the features of Job Costing.
f)  Explain the stages in Activity - Based Costing.

[6324]-48
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g)

03) Attempt any five out of seven from the following:

a)
b)
c)
d)
e)
f)
g)

Gold Ltd, Pune, has three production Depts. viz. ‘P’, ‘Q’, & ‘R’ and
two service Depts. ‘S’ and ‘R’.The primary distribution summary of
March, 2020, gives the following details.

Production Depts:-

e ‘P’-Rs. 8000 * ‘Q’-Rs. 7000 * ‘R’-Rs. 8000
Service Depts:-
e ‘S’- Rs-5000 e ‘T’- Rs-2000

the service Depts. costs of ‘S and “T’- Depts. are to be changed on the
basis of the following percentage.

Particulars P Q R S T
Service Dept.S 20% 40% 30% --- 10%
Service Dept. T 40% 20% 30% 10% -

You are required to find out the total production overheads under
Repeated Distribution Method.

[25]
Explain the Advantages of Cost Plus Contract.

Difference between Job and Process Costing.

State the features of Contact Costing.

Write the limitation of Activity Based Costing.

Explain features Process Costing.

Write short note on ‘Escalation Clause’.

Alto Ltd. Anand has Submitted the Following cost data for the year
ended 31 march, 2021

Budgeted Overheads T1,11,435
Actual Labour hours Hrs. 6, 342
Actual overheads %1,07,130
Budgeted labour hours Hrs. 7,429

You are required to Calculate,
1)  Overhead Absorption Overhead Rate

i) The amount of overhead under or Over-absorbed.
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04) Attempt any one out of two from the following:

a) What is costing? Explain the various Methods of Costing.

[10]

b) Inthe course of manufacturer, a particular product process through three
distinct processes viz. A, B and C. During a monthly period 1,000 units
are produced with which the following additional information is available.

Particulars Process A Process B Process C
Direct material ¥ 2,000 1,000 1,000
Direct labour % 1,500 700 800
Direct expenses 3 300 100 100

Indirect expenses amounted to 34,500 and they are to be appointed to
the processes on the basis of direct labour.

Prepare process account showing the total cost and cost per unit at each

process

[6324]-48
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Total No. of Questions: 4] SEAT No.

PC2726 [6324]-49 [Total No. of Pages: 6

T.Y.B.Com. (SODL)
305G : BUSINESSENTREPRENEURSHIP-I11
(2019 Pattern) (Annual System)

Time: 3Hours] [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Attempt any Ten out of Twelve from the following: [10x1=10]
d TheMSMEAct cameinto existenceintheyear
) 2002 i)y 2004
jii) 2006 iv) 2008
b) Inmanufacturingand servicesector _ arecalled micro enterprises.
)  Investment and turnover above Rs. 1 crore to Rs.5 crore.
i) Investment and turnover above Rs.5 crore to Rs.50 crore.
i) Investment and turnover above Rs.50 crore to Rs.250 crore.
IV) Investment and turnover above Rs. 100 crore to Rs.500 crore.
C) __ transaction is done online. There is no physical exchange of
money. Electronic medium is used for transaction.
) Bank i)  Cheque
i) Digital Payments Iv) Overdraft
d) Industriessuch asbamboo, khadi and honey areencouragedunder

scheme.
) SFURTI i)  Cluster
i)  Technology improvements  iv) Database

PT.O.



€) Busnessplanmeans
)  Project audit i) Project plan
i) Project completion iv) All of theabove
f)  Aninformal business established by atraderis .
)  Personal trading i)  Partnershipfirm
i) Joint Stock Company IvV)  None of the above

g) Nationa Institutefor Entrepreneurship and Small Business Devel opment
was established in

) 1983 ii) 1980
i) 1970 iv) 1990
h)  Technical Consultancy Organisation was established in .

) 1982 i) 1980
jii) 1985 iv) 1995
) __ isthemost important element in a Business Plan.
i) Business i)  Organization
i) Planning Iv) Coordination
j) Itis___ strategy to maintain current business and production levels.
) Stability i)  Growth
i)  Existence Iv) Tolive
Ky  arethetwo wheelsof theindustria chariot.
)  Labour and Management i)  Profit and Loss
i)  Buyingand Selling Iv) Company and Owner
) Startupsget exemptiononlncomeTaxfor  year after establishment.
) Three i) Two
i)  Four Iv) Five
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Q2) Attempt any five out of seven from the following. [5%5=25]

a Statethe stages of Atmanirbhar Bharat.
b) What are the benefits of MSME?
c) Writeanoteon- (BEP)Break-Even Point.
d) Writeanote on State Financial Corporation.
e) Statetheimportance of Business Plan Implementation.
f)  What is Business Problem Solving?
g) Givethe causes of Industrial Sickness.
Q3) Attempt any five out of seven from the following. [5%x5=25]
a Statethe classification of MSMEs.
b) What is a Business Opportunity? Mention the characteristics of the
Business Opportunity.
c) Writetheimportance of Business Plan.
d) Writeanoteon SIDBI.
€)  Writethe objectives of the Business Plan.
f)  Write aprocess for solving a Business Problem.
g) Write examples of Startups.
Q4) Attempt any one out of two from the following. [1x10=10]
d What isAtmanirbhar Bharat and explain the various reasonsfor starting
Atmanirbhar Yojana.
b) Explain al the common obstacles that arise while preparing a Business

[6324]-49
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Total No. of Questions: 4]
PC2726
[6324]-49
T.Y.B.Com. (SODL)
305G : BUSINESSENTREPRENEURSHIP-I11
(2019 Pattern) (Annual System)

(TS FUTR)
e : 34| [ wsgut U1 : 70

go- 1) EE O wsfau s .
2) SEIREA 37k WIS Ui IUT gUifaETa.

¥.1) Ereticrieht shivtag 10 g9a et (St 1 7o) [10x1=10]
) UHUHUNE I ............ Tt HATEaaTa ST,
) 2002 i) 2004
iii) 2006 iv) 2008
F) e J AT A ST G&H IUShH Fgeel 3TT]

i) TaauRk MUt IETRTE FUR 1 it Uer WA d €9 5 widt
i)  TEurs SnfuT SRR TUR 5 widiuen Wrd 9 w9 50 Hiet
jii)  T[AaUER MUt SeTeTe WU 50 widuen W o €9t 250 widt
V) T[AauEk 3T Settetel ®ua 100 widiuen sra o wua 500 et

=) IO AR HATATEH Tgdii= 2lal. T U9TT=! Hifdieh SaTuT—S et 6. SHagRETe!
FolargITeh W1 ATaXe ST,

i) &= i)  oFEwm

1)  SFURTI
) TR
iii) e gER
iv) Semm
3) HIEE A RN ... .



T) UETE AU A0 heled! TETET SHIU=TNG SIadq™ U ..............
) =R =R
i) wmiieRt wwen
i) EgH wisaen vwA
V) acTuehl TeRe ATE

T) P IR VT Y T TR T T ... A AL,
1) 1983 i) 1980
i) 1970 iv) 1990

Y)  AICh TgRTR TE= ST ........... AL HIUAT AT
1) 1982 i) 1980
i) 1985 iv) 1995

@)  HIEE ARSI .......... 21 Had W= 9eeh 312
) EEE ) @ eeq
i) e iv) W

q) WS STEERE T SATEH UTdeh! TEUR . ........... 0T AR
i) TR i) 7 (forem)
i) e iv) SHToE=

A e & Sl WU g ATk 3TTea
i)  HIR AT SEERT
i) = STt dren
jii) T et Tk
V) eRuHt aTIfuT ATeTeR

Y)  TETEHUAT TATIHAR TTHt FHEA ... autaTst ge e
i) @ i) @m
) =w V) qa=
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¥7.2) weferieh S 5 v g, (S 5 o)

)

AR WA 20 |

gew, org oot weem 32 (M SME) = o+t shivra e1ea ?
2 ferg—am -8 frversor (1 Fw-1 det &)

T T wenige IR 4 forgn.

O AT FHASTSTIEU Hgwd TR,

¥7.3) wrefterieh B 5 v g, (S 5 o)

HgH, 71g srfor weem 3art (M SME) < anfiehtot @mm.
EE At TR A ? S wei afvrest wnm.
HaE™ A AT fotgr.

SIDBI (frest) =R #iu foran.
T I 3R fora.

T T Argavar ufskan forer.
wréa it g fom.

¥.4) Wreiicioeh! shivTargt 1 993 @iet.
)  NTHMM WRA WU 1 d AR ATCHHER T G& FUGHERTE [afae ot

=)

|nt.

[5x5=25]

[5x5=25]

[1x10=10]

HTE™ AT/ AREET TR HAHT AT 0 Ee TR0 HASUD TE Fl.

DOO®
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T.Y.B.Com. (SODL)

305 H: MARKETING MANAGEMENT - 11

(2019 Pattern) (Annual System)

[Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any Ten out of Twelve from the following : [10]
a) In any business is considered as the focal point.
1)  Seller 1) Producer
1) Consumer 1v) Distributor
b)  Your customers are just a few clicks away form making a purchase

d)

if you have
1)  Trade 1)  Website
i) Market iv) Computer

When manufacturing companies manfacture goods but use the brand
name of the company at the time of sell it is called

1)  New brand 1) Private label
i)  Original brand iv) Old brand
means decrease in demand of the commodity in the
market.
1)  Latentdemand i)  Declining demand
i) There is no demand 1v) Negative demand
Market research is done under this department.
1)  Purchase i)  Marketing intermediary
i) Research & development 1v) Management

PTO.



2)

h)

)

k)

D
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is an important part of the digital economy.
1)  Market place 1) Business
i) Email marketing iv) Currency

in the market goods are bought and sold according to
the demand and need of the customer.

1)  Ditto Market 1)  Wholesale market

i) Retail market iv) Futures market

Doing business with more than one nation means

1)  Local business 1)  Global business

i) National business iv) A National business

The major factor affecting global marketing is

1) Brand 1)  Natural situation

i) Sales process 1v) Price

Non - profit organization are known as

1)  Charitable organization 1) Governmentorganization

i) Business organization  1v) Personal organization
in a way there is an action plan.

1)  New brand i) Brand strategy

i) Sell of goods 1v) Purchase of goods

it includes communication system, electricity water,
and necessary technology.

1)  Secondary facilities 1)  Necessary facilities

i) Basic Infrastructure iv) Indirect facilities



02) Attempt any five out of seven from the following. [25]

a)  Explain the types of Non - Profit organization.
b) Explain the forecasting techniques.
c) Briefly explain the factor affecting marketing organization.
d) Explain the importance of building a brand strategy.
e) Explain the various functions in agricultural marketing system.
f)  Explain the importance of Trade Mark Act, 1999.
g)  Explain the Global vs International Marketing.
03) Attempt any five out of seven from the following. [25]
a)  What are the features of Indian Patent Act, 2005?
b) Write Notes - Bureau of Indian Standards Act.
c¢) Explain the strategies of cyber security marketing.
d) Explain the types of Agriculture marketing.
e) Explain the problems of Non - Profit organizations?
f)  State the advantages of functional marketing organization.
g)  Write notes - Global marketing.
04) Attempt any one out of two from the following. [10]
a) What is Agriculture Production? State the characteristics of Agriculture
production?
b) Whatis asales forecast? Write in detail the qualitative and statistic methods

of sales forecasting?
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Total No. of Questions : 4]
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[6324]-50
T.Y.B.Com. (SODL)
305 H : MARKETING MANAGEMENT - 11
(2019 Pattern) (Annual System)

(TS EUTR)

e : 3aE] [ T O 70
guat:- 1) Hd U A sravaes g,

2) ITAREA 3k T YUT U7 geiterar.

3) EEHETS! He US YS! Uget.

g.1) @rettet Uit shivragt 10 9o diga. [10]
HA) RV TG ............ 1 ehgferg AT Sl
i) Teeka i) =t
iii) uTEH iv) oo
) THAETES oo, O, TH UTEeHh TG HUATITH e Torereh 2 3imed
i) =R i) e
iii) SR iv) o
F)  STeRT SCUTEeh U S (AT shtaTd, URg fershiean dest, ShuHea AT SE AT,
I o 1 SRR TEUTAT.
i) e i) T A"e
i) HSHS iv) SMTsE
1) I TEUTS STRTAIE el WRTOT el grot
i)  gu i) et At
iii) IO WRTOR A iv) TehwTeHS ARToR
1) [ 1 faWTTIaTTa SR |INe et ST,
) @& i) foroum veme
iii) SN anfot feremra iv) TeRATA



i) =Rus i) =TEE™
iii) -7 foom iv) wem
1) JOUORROO FTARUST UTEHTEAT HITUTIIER o TRATHR Segl et — forsht heft Srd.
1) W RETER 1) &k 9NR
iii) TR AR iv) amEE aeR
1) THUT AT TP ATHE 0 TGS ..o .
i) entie =aE™ ii) i SaE™
iil) W SEE™ iv) UH UgE HaE
@) WRTfdeh [SUUHTER Ui 0T ... ... 7 THE UeH AR,
i) = i) Jafte aRferd
i) ek ufsken iv) fma
q) fom-awmEeena............. TEUH el ST,
i)  emure gen i) YITEEh T
i) =rEETes weer iv) Safehes TE
) eeeeeeeeeens TEUS U ThR Thell JRREST 3Tl
) TS ii) g sgETe
iii) e fosh iv) o e
o)  TBUTHSUIT STTEAT, IS, UTOR U7 AT TTAH THEADN ..o gal.
i) gEmgleEn i)  3mavae gaen
iii) orETYE gl iv) oToeaet g
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Y.2) Wieiicel Ara Uil ShivTag! arer 95 died. [25]

o - o HEOl YRR T .

forum wEeAeR uftuTm UM gew g TWE H.
Forgren SIgta TR SuaTe WEE W .

et fouum e fafay wr w1 %
=R faeg w™eEr, 1999 = ugwa e &

i foreeg g fauum e &=,

¥.3) Wieiicet Ara Uil ShivTag! arr 959 diea. [25]

WRHr e et , 2005 < A w7
Zu foTgl — WA W HEietd Hgl.
IR et fauuHTen SEeerT WE &

et fouuETe YR T w0

T — o ERATT WeHaUT= AHE T .
&u forgr - wmifaes femom

Y.4) Tieiict S Uehl ShIvTATE! Uk 95 AT, [10]

)

=)

Tl IcUTEH FEUTS T ? FE SedreATe frgd T

fersfiren st @ e ? foshY sigrTe UM sftr wifeadR ugdR Afoer
witedt foran.
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[6324]-51
T.Y.B.Com. (SODL)
305K: INSURANCE, TRANSPORT & TOURISM -1
(2019 Pattern) (Annual System)

Time: 3Hoursg] [Max. Marks: 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Answer the following questions. (Any 10 out of 12). [10]
a What is grace days?
b) DefineAssigner.
c) Whatispurerisk?
d) What istimevalueof money?
€) What do you mean by yearly renewable plan?
f)  What is FRENT?
g Whendidthel.R.D.A. comeinto existence?
h)  Givetwo examples of types of tourism.
1)  Who is Tour Operator?
]) Definereinsurer.
K) DefineTourism.

)  Whatismotel?

PT.O.



Q2) Answer the following questions. (Any 5 out of 7). [25]
d WhatisRevival of Insurance?
b) Statetheclassification of risk.
c) Writeinformation about Consumer Dispute Redressal Bodies.
d) Explaintherelationship between probability and mortality tables.
€) Describe the nature of tourism transport.
f)  Explainthefunction of risk assessment.

g) Explainthefunctionof |.R.D.A.

Q3) Answer the following questions. (Any 5 out of 7) [25]
ad Explaintherelationship between insurance and risk management.
b) WhatisAssignment of policy?
c) Statethefunction of surveyor.
d) Explaintheimportant provisions of the Consumer Protection Act 1986.
e)  Which Factorsinfluencing Tourist Transport Selection?
f)  Explainthe function of atour operator.

g) Describetherole of IATO (Indian Association of Tour Operators).

Q4) Answer the following questions. (Any 1 out of 2). [10]

a Explain the different terminology in Insurance sector related to Life
| nsurance.

b) Describe the role of accommodation sector in tourism.

POO®
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[6324]-51

T.Y.B.Com. (SODL)
305K : INSURANCE, TRANSPORT & TOURISM -1
(2019 Pattern) (Annual System)

(WSt |UTR)

¥ : 39HE] [T o 2 70
o :- 1) 6 U HIEUt HIEvEh .
2) ITEAIRSA 37k YA YU 0T FUifarara.

¥.1) wrefiet swAreh I 2 (12 &6 10). [10]
) i foee U wE ?
F)  orvfiaiaeRhaTe SARET .
F)  Yg TG U FHE?
3) O AR e U i ?
3)  afien TaIeRUTENE Fisten 319 i AR ?
%) e (FRENT) ot &m@?
@) et (ILR.D.A.) e aifterem amet?
1) ATl YRR G ISTOT L
@) T HATIE HIVT Al ?
3)  yAfduTeRat ST m.
q) T SRS |,
y) HIZH U HE?



T.2) Eretier aerh W forgr. (7 9<ht 5)

)
)
%)

3)

o gAESian oS e ?

ARG STehTuT §.

wTgeh ferae Fremon geer=h wifgd fora.
TiEA ATggehtel TEY TR

T YedrehTe hid T8 .

. AR E.U0. = HE T F .

%7.3) wrefer swreh IR forar. (7 8 5)

o afoT SEie eI T Hae T .
foram=t sftrgreaiena wurst @ ?

ogTeRTe e |

UTgeh TRET0T hraet 1986 el Wewaredn aigal eI &l.
T ARGl HaSier ShiUTd Heeh TNUTH SHEdrd ?
TH SITUReTE wE WY .

Ffeam smnfiuym o1t ¢ sttwed (IATO) =on Yfteka quia .

57.4) wreler s 3w forar, (284 1)

)

=)

e Tt wete fom emdier fofere e e .
YA e ST Yicha JuiH 4.

0]616]0,
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Total No. of Questions : 4] SEAT No. :

PC2729 [Total No. of Pages : 6

[6324]-52
T.Y.B.Com. (SODL)
306A : BUSINESS ADMINISTRATION - 111
(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any Ten questions : [10]
a) What does diversification help to achieve in a portfolio?
1)  Increase risk i)  Concentrate investments
i) Reduce risk iv) Increase returns
b)  Which of the following is a type of plant layout?
1)  Functional layout 1)  Financial layout
i)  Organizational layout iv) Strategic layout
c) What does the term “Six Sigma” relate to in quality management?
i)  Cost reduction techniques i)  Statistical quality control
) Employee training programs iv) Market analysis strategies
d) Which activity is part of supply chain management?
1)  Product design i) Marketing strategy
i) Logistics and transportation iv) Human resources planning
e) Whatis working capital?
1)  Long-term assets minus long-term liabilities
i)  Current assets minus current liabilities
i) Total assets minus total liabilities
1v) Equity plus debt
f)  What is a blue-chip stock?

1) A stock with high volatility
i) A stock from a well-established company
i) A stock with low trading volume

1v) A stock from a start-up company

PTO.



g)  Whatis debt financing?
1)  Raising capital by issuing bonds
i)  Selling company shares
i) Using retained earnings for expansion
1v) Merging with another company
h) Whatisretained earnings?
1)  Profits reinvested in the company
1) Funds borrowed from banks
i) Capital raised through stock sales
iv) Revenue from product sales
1)  What is the risk-free rate?
1)  Thereturn on a zero-risk investment
i)  The return on the stock market index
i) The average return on corporate bonds
1v) The interest rate on personal loans
) What factor is considered when choosing a plant location?
1)  Proximity to raw materials 1)  Number of employees
i) Office design iv) Marketing strategy
k) What is TQM an acronym for?
1)  Total Quality Measurement
1)  Total Quality Management
i) Total Quality Maintenance
1v) Total Quantity Management
1)  What does ERP stand for in supply chain management?
1)  Enterprise Resource Planning
1)  Electronic Resource Planning
i) Efficient Resource Planning

iv) Enterprise Risk Planning

[6324]-52 2



02) Attempt any Five questions : [25]

a) Whatis Business Financing?
b) What is Stock Exchange?
c) Whatare the factors influencing on financial plan formulation?
d) Whatis Trading on equity?
e) Explain the term Debentures.
f)  What are the functions of Production Management?
g)  Write a note on Logistic Management.
03) Attempt any Five questions : [25]
a)  Write a note on National Stock Exchange (NSE)
b) Whatis Machine Learning?
c) What do you mean by Total Quality Management?
d) Explain stages of Supply Chain.
e) Explain objectives of Logistic Management
f)  Write overview of Credit Rating Information Services of India Ltd
(CRISIL)
g) Explain the Techniques of Production Control.
04) Attempt any One question : [10]
a) Explain the term Capitalization and differentiate between Over
Capitalization and Under Capitalization.
b) Explain in detail types of Capital.

VOOV
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T.Y.B.Com. (SODL)
306A : BUSINESS ADMINISTRATION - 111
(2019 Pattern) (Annual System)

(WSt T UTR)
9% : 3 A/ /TR IO ;70
guat:- 1) Hd U A sravae g,
2) SHEREA ek TS YUI U7 FEIeAT.
¥. 1) Ereieriht SR 10 W drear. (St 1 o) [10]
) fafashieomgs udwifereime wm@ me g ?
i) e aEa i) TAEURRIER T8t higd w0
i) REm wH w iv) uRaTen areat
q) EcicTuehl ShIUTAT FE Higufien Jehr 3118 ?
i) A wigul i)  enfefe Areuft
iil) FEATHR HISUT iv) SR qreuft
%) oo femmn” = visgren UTeT STERATGATIN I HeY 3R ?
) T wH R a i) wifeaRE urem fEEo
i) HHEI ST9TETOT TR iv) aTIR fascheor ewo
g) YS! U STERATIATEI WRT ShIUTAT 31T ?
i) e fegme i) foum gRo
jii) TR ST aTEA iv) EE R R
3) TWobd Wigde WU HhiF?

i)  deenteli e S et gt
if) e HeTE SIS e g

iif)  CRUT HCTE S TRV Fe

iv) 3R aifers el



F) -Tou s U wE e

) = AR FEA =ik i) enfua U ®ih

i) e iegm e Wi iv)  WIE-3TW Ul €k
q) I fAEs! U & ?

) TG AR HEA WiETA IHRO i) o weTE foreRut

i) TR W el TS AW fv) AT SO fareii e
V) TG ST FHHTG U hi ?

i) UL T YT aee i) SeRiehg et Saeten el

iii) i fershigR Wigaet SURA iv) e feshiqa wege
@) TG goh g T 3R ?

) IE-VIEW (AU WAEl i) ISR SR FHEThIaR uraran

i) wUNe FTEHR TOEL TRATA iv) Safthe Heiadel ST &
) Ul S FeEar wivm gew e Sden st ?

) e TTeTER A i) TR wEm

i) atifRa fegme iv) fouum o
) TQM < HieH €U HE 3R ?

)  TRU UTEE WO ii)  TRUT U ST

iil) UHOT TUTEET SEHTA iv) USHUT JHIUT SHERATIH
J) U™ oH HAwHensd ERP = 31ef & o1g ?

i) Uermsn fa wifHm i) goreRiHe wene e

iil) e HEEA FENE iv) Sem SEm e
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¥.2) Wichetiehl SHuRE 5 Wy rear. (S S o) [25]

)
)
%)
?)
3)
w)

3)

e foagIEst WU & ?

Wik TS WU hid ?

TR TSI TR FHIULTER ThIUTd Teeh URUTH SHTdrd ?
sfendier gfen wut w@?

fesod =1 yregr TUEieRtuT .

ST SHARATIATE ST T ST ?

Titifeee: HawHeer ek & forgr.

¥.3) Eiciieriht SR 5 wee |igar. (S 5 o) [25]

#)
a)
%)
?)
3)
w)

3)

F9He Wik Taas (NSE) =R ue v forar.

A AT U A ?

TERUT TUTEAT SHAEATA FgUTS Tl ?

JYEeT g 20 T .

AT HATHe 3D e .

e AT SHHIM Hiced™ N grean ferties (CRISIL) = fogmeetie forat.

Y. 4) Wiciiciieh! shiotargl 1 993 | [10]

)

)

HIUTAZIA AT e TASIHI0T HA 3MUT e S fUeA=Ro= fur 37eT
HUCATTSIHAE A Fleh T8 .

WiETAT qUINTAR TehR T8 .

VOO
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[6324]-53
T.Y.B.Com. (SODL)
306B : BANKINGAND FINANCE - 111
(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Multiple choice questions (Any 10): [10]
a) When did the Banking Regulation Act come into existence.
) 1949 i) 1960
) 1947 v) 1955
b) According to the Banking Regulation Act 1949 it is mandatory for a

d)

banking company to take prior permission for starting a new branch.

1)  Reserve Bank i) Central Govt
i) Finance Govt iv) State Govt
Banking Regulation Act 1949 in Clauses are arranged.
) 44 i) 35
) 56 v) 69
The person to whom the promissory note is given is called
1)  Maker 1) Creditor
i) Payee iv) Debtor
means a bill of exchange drawn on a specially directed bank.
1)  Cheque i) Promissory note
i) Drawee iv) Bill of exchange

Indian Bankruptcy and Insolvency Board was established on
i) 1 October 2016 i) January 2015
) 28 May2016 iv) 21 December 2015

PTO.



g) The Banking Ombudsman is appointed by the Reserve Bank of India for

the term of
1) one ) two
i) three iv) four

h)  Appointment of Banking Ombudsman is done by
1)  Reserve Bank of India i)  Prime Minister
i) Finance Ministry of India iv) President
1)  People who do hacking are called
1)  Hackers i) Programmers
1) Cybercrirninals iv) None of these.
) The bank that cashes this customer’s check is called
)  Issuing Bank i)  Savings Bank
i) Recovery Bank iv) None of the above
k) A bank that collects check amount on behalf of customer is called
1)  Issuing Bank
i)  Savings Bank
ii) Collection Bank
iv) Lending and Debt Recovery Bank

)  The person availing banking services is called

i)  Banker i) Broker
i) Customer iv) Trustee
02) Write the answers to any Five of the following Questions. [25]

a) Briefly explain the powers of Reserve Bank of India.

b)  Write sample letter of promise.

c) Write information about Insolvency and Bankruptcy Board of India.
d) Explain appointment and tenure of banking ombudsman.

e) Explain the about Phishing and Hacking.

f)  Explain the concepts of banker and customer.

g)  Write the features of mortgage.

[6324]-53 2



03) Write answers to any Five of the following Questions : [25]

a) State the objectives of Bank Business Regulation Act 1949.
b) State the features of promissory note.
c) Briefly explain the insolvency resolution process.
d) State the duty of Banking Ombudsman.
e) State the types of cyber crime.
f)  State the duty of the collecting bank.
g) Explain the relationship between debtor and creditor.
04) Write an answer to one of the following Questions : [10]
a) Explain in detail the causes of cyber crime in banking business.
b) Explaining the meaning of the issuing bank and Explain in detail the duties

and rights of the issuing bank.

VOOV

[6324]-53 3



Total No. of Questions : 4]
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[6324]-53
T.Y.B.Com. (SODL)
306B : BANKINGAND FINANCE - 111
(2019 Pattern) (Annual System)
(TSt TUTR)
9% : 3 A/ /TR IO ;70
guat:- 1) Hd U A sravae g,
2) SRS 3Tk YA YUl T[0T YIerdTa.
Y. 1) SgaaiEt T, (RIUTATE S70) [10]
HA) SRR EEE e T AT AT,
) 1949 iy 1960
iy 1947 iv) 1955
q) dfRn e FEE 1949 FER T6E T g6 UGSt v qEuiariit oot
........... TR .
) fedds i) dhg TRER
i) for TR iv) T TSR
&) ot e e 1949 ®veA e, He™ HISAA AT,
) 44 iy 35
iy 56 iv) 69
T) U H<hE IOEUS [T S M e 3T TUTAT.
i) i i) oFeR
i) smErn iv) RUTeRI
) N U favie el deher weeen o w= g,
i)  oARW i) @R
i) g iv) fafrma o
W)  WRAH AR 9 faarst Weami T ... T,
) 1 eHEER 2016 i) SRE 2015
i) 28%2016 iv) 21 @R 2015
T) HRAE NETe Sehehgd STl GAIRUTATE (ARl ... TETHRAT hetl T,
) TH i) &
i) = iv) =R
T) ST ATRUTET FRRA . YA Helt .
) uRdE fed T6 i) dagee
i) R o e iv) g



@) W Tk IRt ST T o, 3 A A,
) F& i) TmR
i) HTEER TR iv) amaht A
q) g AT SATCYITE! AW TEH TG HIUTT SHheT ... 3T TEUTAT
i) werER &w i) =@ s
i) et o iv) =Tt URE el
q)  UTERTEAT T ST TEHH STE U kel ............ Y guTdT|
i) werER &w i) =@
iil) ager 5 iv) ool QUIH & heTrelt Set! ST Sk
o)  fehTl Tl TN SUTRY SRIVTIE Saehl TS ................ .
) F i) T
i) UEH iv) fevera
Y.2) WiciicTeh! ShIUTeaTgt uTel ToAm=it 3w fo1al. [25]
) R figrd el e JfER g e .
)  ToH uETen A9 o
F) HRAE AEH § ESa deaTEgee Hifgdl foTal.
g) SR CIGhUTTE Al SATTUT ShisiehTed ST TR
3) T ofe gl areggEe witedt .
W) SRt SATUT UTEeh AT HeheUAT TIE H.
q) TR afvs) forEr.
Y. 3) WiciicTeh! ShIUTeaTgt uTel Toameit 3 foTal. [25]
) Heh FEEE v wEEn 1949 =i sfege wnm.
) T v ST am.
&) et e afshen eftgerma wE .
g) SR ATRUTATE Shasd T,
3) R RN TR 9.
W) el skl hasd |ET.
q) SHUTR! AT YRl AT Tl T .
Y. 4) Ereiteideht TRt e S o [10]
) Hh ATAETI AR TATRIG! HRUT R T .
)  UErh dden e T YerRlt sl wic 9 g TR TS .
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[6324]-54
T.Y.B.Com. (SODL)
306C : BUSINESS LAWS & PRACTICES - 11
(2019 Pattern) (Paper - I1I) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) Attempt any TEN questions out of TWELVE : [10x1=10]
a) What do you mean by “Dutiable Goods”?
b) What is Input Tax Credit?
c) What is the full form of GSTN?
d) What is a fake invoice under GST?
e) Full form of SEBIL
f)  Define a shareholder
g) Whatis a Balance Sheet?
h)  Define the term ‘First Director’.
1)  Mention any one duty of a Company Director.
) What is IPC?
k)  What does section 128 of Companies Act 2013 deal with?
)  Where should a company keep its books of accounts and financial

statements?

PTO.



02) Attempt any FIVE questions out of SEVEN : [5x5=25]

a) Discuss the Duties of a Company Auditor.

b) Explain the stages and methodology of GST-SGST-CGST-IGST with an
example.

c) Explain the major goals of GSTN.

d) Explain the procedure of Audit by GST Tax Authorities.

e) Write a short note on Administration of Investor education and protection
fund.

f)  Write a short note on voluntary revision of accounts (Section 131).

g)  Write a short note on the remuneration of a Cost Auditor.

03) Attempt any FIVE questions out of SEVEN : [5x5=25]

a) Explain the three types of Bill of Entry.

b) Write a short note on IGST.

c) Explain the role and functions of GST Council.

d) Give the list of records to be maintained under GST by a GST dealer.

e) Highlight the major differences between Interim and Final Dividend.

f)  What is the punishment for failing to file financial statements with the
company registrar in accordance with sec 137 of Companies Act 2013?

g)  Write Short note on Resignation and giving special notice by an Auditor.

04) Attempt any ONE question out of TWO : [1x10=10]
a) Discuss the qualifications and disqualifications of a Cost Auditor.
b) Discuss the role and duties of Directors.

VOV

6324]-54 2



Total No. of Questions : 4]
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T.Y.B.Com. (SODL)
306C : BUSINESS LAWS & PRACTICES - 11
(2019 Pattern) (Paper - I1I) (Annual System)

(WSt ®UTR)
9% : 3 ™/ /TR IO ;70

g :— ) HE I WIS ey .
2) ISEIHRSA 3k T YU 0T GEIeA.

Y. 1) Wiciiet SRT I9AT0h! ShIUTCTE! 381 T9-re 3R . [10x1=10]
31) gggwEa a& (Dutiable Goods) Tgurst e ?
&)  FIYE 2o shive WU i ?
%) GSTN = gui &y fetar.
g) GST 3i@a Tehelt To- A 36 ?
3) SEBI = yui ®u foran.
W)  WIeRURT! R forEr.
q) ATREG U HE?
1) ‘wem @ures (First Director) @l =amen fogr.
)  hUHTeAT HeTCTehr ShIVTAe! Uoh Sed foret.
a) [IPC 2 w™ 3mR?
) huA StffEEm 2013 =3 o™ 128 o Heelt 3 ?

o)  THOAH I oI Gk STTUT farita fererut s S ?



Y.2) Wieited | TR hivTdg! Il T9 Hisa. [5%5=25]
)  HUHIE AREIdereRTe Shdedel Tl .

)
%)
3)
3)

%)

3)

GST-SGST-CGST-IGST = 2ot 3T Ugeii<l Ui IETERuTHg T8 .
GSTN < & 949 T8 F1.

GST = 31fererragR emadierom=i gfsraen wue &,

Fraroren fteron anfon wrermn i’ semETeR € forat.

‘T@es1 @@t uftswor (&@H 131) (Voluntary revision of accounts
(Section 131) =R & forar.

Y. 3) WTeiiet AT T9ATdeh! ShiUTdg! Ul T9 HigaT. [5x5=25]
) Tore o U= © dF TR TE .

)
%)
3)
3)

%)

)

IGST =R ¢ feran.
GST uftse=it JfHert 3foT T 0.
GST == GST Add 3acat ST shreu==h et forgr.

Ut et 2013 = et 137 TaR ot IRTgReRe o foratun grae wvam
IR T 5 I R ?

Y.4) @ieiiciieh! ShIvTeardl Ueht g9 3w forat. [1x10=10]

H)

)

TSI AT eTehT=I UTSdT SATUT S{UT=IaT ITer <t .
HaTeTeRTe AR STfUT S ATeR = .
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PC2732 [6324]-55 [Total No. of Pages: 3

T.Y.B.Com. (SODL)
306 E: COSTANDWORKSACCOUNTING- 111

(2019 Pattern) (Annual System)
Time: 3Hourg] [Max. Marks: 70
I nstructions to the candidates:
1)  All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks(Any Five) : [9]

a Contribution is equal to

) Sales- cost of sales i) Sales- cost of production
i) Sales- variable cost Iv) Sales- fixed cost
b) Flexible budget is also known as budget.
) Vaiadle i) Fixed
i)  Cash Ilv) Sales
c) Varablecostchange  with changein output.
1)  Proportionately i) Industry
i) Inversaly Iv) Indirect

d) Sdesbudgetisa

)  Expenditure budget i)  Functional budget
i) Master budget Iv) None of these

€) MIS helps in decision analysis which is the type of typical
decision
) Makeor Buy i)  Useof aternative materia
i)  Selection of production iv) All of theAbove

PT.O.



f)  Standard cost implies
I)  predetermined cost for a period
i) incurred cost
i) conversion cost
IV) incremental cost

g) The Cost Auditor prepares before the cost audit.
) Cost Audit Report i)  Cost Audit Program
i) Checklist Iv)  Working Papers
B) Matchthepairs [9]
Group A Group B
a) Variable Cost 1)  Driven by Competitor’s Price
b) Key Factor i) Cost Audit
c) CAS 6 i)  Material Cost
d) Veification of the correctness iv) Margina Cost
of cost accounts
e) CompetitiveBasedPricing v)  Limiting Factor
Q2) Attempt any 5 questions out of 7 : [5%5=25]
d What arefixed cost and variable cost?
b) Explainthefeaturesof uniform costing.
c) What are the objectives of the budgetary control system?
d) Write a short note on employee cost.
e) Briefly explainthelimitationsof job costing.
f)  Thefollowing data are available from the records of a company:
Sales Rs. 60,000; Variable Cost Rs. 30,000; Fixed Cost Rs. 15,000.
You arerequired to:
Calculate the P/V Ratio, Break-Even Point in Rupees, and Margin of
Safety at thislevel.
g) From thefollowing information, calculate the break-even point in units

and salesvalue:

Total fixed cost Output = 30,000 units;
Selling price per unit = Rs. 30
Variablecostperunit = Rs. 20

Total Fixed Cost = Rs. 20,000.
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Q3) Attempt any 5 questions out of 7 : [6x5=25]

ad Explainthe advantages of budgetary control system.

b) Explaineementsof supply chain management.

c) Explainthelimitationsof standard costing.

d) Writeashort note on the skimming price policy.

e) Explainthedifference between cost and financia audit.

f)  Compute material cost variance for an output of 200 units from the
Information given bel ow:

Standard quantity = 3kag. per unit of output
Standard price = Rs. 2 per kg.

Actual quantity consumed = 550Kkag.

Actual price = Rs. 3kg.

g) Standard wagerateisRs. 2 per hour and standard timeis 10 hours. But
actual wagerateisRs. 2.25 per hour and actual hours used are 12 hours.
Calculate Labour cost variance.

Q4) Attempt any 1 question out of 2 : [1x10=10]

ad S. K. Brotherswishesto approach the bankersfor atemporary overdraft
facility for the period from October 2023 to December 2023. During the
period of thisperiod of these three months, thefirmwill be manufacturing
mostly for stock. You are required to prepare a cash budget for the
above period.
Month Sales (Rs) Purchases (Rs.) | Wages (Rs.)
August 3,60,000 2,49,600 24,000
September 3,84,000 2,88,000 28,000
October 2,16,000 4,86,000 22,000
November 3,48,000 4,92,000 20,000
December 2,52,000 5,36,000 30,000
)  50% of credit salesarerealized in the month following the salesand

the remaining 50% in the second following.

i)  Creditorsare paid in the month following the month of purchase.
i)  Estimated cash as of 1-10-2023 is Rs. 50,000.

b) Explain the advantages and disadvantages of cost audit.

X X X

[6324]-55 3



Total No. of Questions : 4] SEAT No. :

PC2733 [Total No. of Pages : 5

[6324]-56
T.Y.B.Com. (SODL)
306G : BUSINESS ENTREPRENEURSHIP - 111
(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Multiple choice questions (Any Ten out of Twelve) : [10x1=10]
a) Organizational behavior is the organizations study of
1)  Human 1))  Human behavior
i) Employees iv) Employer
b) is the structural relationship between the various functions in an
organisation.
1)  Management i)  Organization
i)  behavior iv) Leadership
c) Anentrepreneurial personality trait does not include any of the following
traits.
1)  Acceptance of risk i) Innovation
i) Decision making ability iv)  Selfishness
d) Five Factors theory developed by and his colleagues.
1)  Goldberg 1) Eysenck
i) Cottel iv) None of these.
e) started Nykaa Company at the age of 40.
1)  Aadar Poonawala i)  Shri Shiv Nadar
i) Falguni Nair iv) Kiran Mazumdar Shaw
f)  To do a great work requires
1)  Group i)  Entrepreneurs
i) Business iv) Employment generation

PTO.



g)

stress is positive stress.

1)  EU stress i)  Acute stress
i)  Chronic stress iv) Severe stress on order
h) is the world’s most popular audio-visual distribution channel?
1)  YouTube 1) Facebook
) Website iv) All ofthese
1) In an organization is an important component of that
organization?
1)  Workers 1) Labour
i) Leader 1v)  Supplier
7)) The supporting model is based on of the following.
1)  Onleadership. i)  On authority
i)  On money iv) None of these
k) Aneffective means of instilling motivation and confidence in employees
is
1)  Motivation 1)  Organization
i)  Planning 1v) Messaging
1)  Which of the following is not a correct type of entrepreneurial stress?
1)  Conflict stress i)  Acute stress
i) Chronic stress iv) Severe stress on order
02) Attempt any 5 questions out of 7 : [5x5=25]
a) Explain the importance of organizational behavior.
b) Explain Eysenck’s qualitative theory.
c) Explain the classification of group work.
d) Explain the types of entrepreneurial group dynamics.
e) Explain the benefits of vocational training.
f)  Write a note on ‘Work Appraisal’.
g) Explain the new 4 P’s of digital Marketing.
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03) Attempt any 5 questions out of 7 : [5x5=25]
a)  Write a note on ‘Organizational Behavior Model’.
b) Write a note on ‘Personality Development’.
c) Explain Goldberg’s major five factor theory.
d) Explain the group formation process.
e) Explain the causes of stress in the organization.
f)  Explain conflict management strategies.

g) Explain the types of digital marketing.

04) Attempt any 1 question out of 2 : [1x10=10]

a) Define organizational behavior? Explain the need and importance of
organizational behavior.

b) What is digital marketing? Explain in detail the major components of
digital. marketing.

VOOVQ
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[6324]-56

T.Y.B.Com. (SODL)
306G : BUSINESS ENTREPRENEURSHIP - I11
(2019 Pattern) (Annual System)

(WSt ®UTR)
9% : 3 A/ /TR IO ;70

g :— ) HE I WIS ey .
2) ISEIHRSA 3k T YU 0T GEIeA.

¥. 1) sguatdt v, (S 10) [10x1=10]
HA) THESATHSR T U TEAAA ... = I .
i) ume i) e g
i)  wHER iv) e
F)  TEEH SWHATAIA [ATIe HEahiHEd THUTT TEATHS Ha8 M. ............. .
i) TERATA i) wEed
iii) = iv) g
®) IR AAREE AREITE WEAT ... e TR A4
.
) e wewro i) FaffE
i)  fota emen iv) T
) Uuesw g SATTOT =T TRt forenféa et 3
) Tiegert i) amEEiR
iil) e iv) SR T
) e Tt 40 =21 Tt ATEeRt HU & el
i)  STeR gHTETEn i) it fra TR
i) A AR iv) TRt gemeER i
W) UER WS H HUEEE ................... JATAFRAT 3T,
i) g i) SgEvSTeRTeR
i) reERETER iv) IR fAfid
") e TAT0T 1 TR NIcHh TT0T 318
i) zgam i) e amon
iii)  SATE AT iv) SRETER A arot
£ 3 IR 1 ST HaTd CAIeh{SE STEee goh—Ted ferrhia faauTren wwt o
) g i) HEIR
i) SeETEe iv) iR |



W) WHCAHA ..o T T T HERaT=l 9eeh ATl
) HAIR 1) ¥R
i) @ iv) YEeRR
q) EERAS Higd WIATATR ........... SATEA 3R,
) TR i) sfeemER
i) 9TmeR iv) amaeht A
d)  wHeEmeEd i o favema fmion svam g @R e 2.
i)  arfsRom i) wEed
i) FEem iv) weweg
y) IGHThIA ATUTEN WCHETUeh! ShITTAT T TR AT ?
i) e an i) e
iii)  SATE AT iv) SRETER A arot
Y.2) WiciicTeh! ShIUTeaTgt uTel ToAm=it 3w fo1al. [5x5=25]
) UUEATHE ATl Hgwe T .
q)  IEE T U g TE .
&) UUE I TR0 T .
T)  IgIhAT A TAieid< TR T .
3) STEEIRI U WEe TS &,
W) ‘wE geaied AR o
7) fefes fauume w<im 4P’s w12 =
Y. 3) WiciicTeh! ShIUTeaTgt uTel Toameit 3 foTal. [5x5=25]
HA) ‘HHSATH®: o UET /AR IR 4 forgn.
q) e e IR du o
®) Togsrt I IE UTHee fHgia e .
T) UYE TOAT Uik T .
Z) HHSAAIA AU HRUI TWE .
W) EUY HEEATATH! LR T .
) feea fumr ywr W =,
Y.4) @reiicoeht ekt g9 W ot [1x10=10]
) FEEATHSE TaATEl 31 ARH, T TR 9 Hewd T .
) fefea fouom s wm e e v v@ gew afoer @ w0
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Total No. of Questions : 4] SEAT No. :
PC2734 [Total No. of Pages : 6
[6324]-57
T.Y.B.Com. (SODL)
306H : MARKETING MANAGEMENT - 111
(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any Ten out of Twelve from the following : [10]
a) Efforts, planning, aims and evaluation of human resource is called as
marketing
1)  Control )  Auditing
1)  Environment iv) Management

b) The tools used to provide complete information give customers about
your goods and services are

1)  Advertising work

1))  The nature of the advertising
i) Scope of adverting

iv) Media of advertising

c) is a soul of advertisement.
1)  Media 1) Design
) Message 1v) Printing Art
d) Hunger, thirst, rest, sleep are included, in motivation.
1)  Social i) Primary
i) Physical iv) Psychological
e) Marketing is a directive process which directs all activities in
marketing.
1)  Auditing i)  Environment
i) Management iv) Control

PTO.



f)  E-advertisement are more than all other types of advertisement.
1)  Beneficial i) Expensive
) faster iv) Broad

g) Inservice marketing after sales service, quality service, business service
and research development etc., are part of

1)  Product oriented components
1) Person oriented components
i) Quality oriented components
1v) Industry group components

h) The head office of standard council of advertising in India is in

i)  Delhi i) Mumbai
i) Pune iv) Kolkata

1) are depend on use of internet and modern technology.
1)  Press media 1) Magazines
i) Social media iv) Website

j))  Television is medium of advertisement.
1)  Printed i)  Visual
i)  Audiovisual iv) External

k) Kirloskar, Godrej & Tata are example of brand.
1)  Corporate brand i)  Multi brand
1) Personal brand iv) Range brand

)  Some of social media, which give platform to earn more money
independently are called as

1)  Selfmedia 1) Income media

i) Print media iv) Exchange media
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02) Attempt any Five out of Seven from the following:

a)
b)
c)
d)
e)
f)

g)

Explain the Role of Advertising in Modern Business.
Write a Short Notes on Positive Emotional Approach.
Explain the Ethics in Advertising.

What are the Types of Brand?

What are the Challenges faced in Service Marketing?
Explain the Developing Advertising Strategy.

Explain the Characteristics of Marketing Audit.

03) Attempt any Five out of Seven from the following:

a)
b)
c)
d)
€)
f)
g

Explain the Functions of Advertising in details.
How to Create message of Advertising?

Write a short note on Advertising council of India.
Explain the Brand management Process.

Explain the 7 Ps concept of Service Marketing.
Explain the Principles of Design.

Explain the Various Social Media Marketing.

04) Attempt any One out of Two from the following:

a)
b)

Describe the difference between B2B and B2C Services.

Explain the effects of Advertising on Consumer Prices.

VOOVW
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T.Y.B.Com. (SODL)
306H : MARKETING MANAGEMENT - 111
(2019 Pattern) (Annual System)

(TS EUTR)

9% : 3 A/ /TR IO ;70
guat:- 1) Hd U A sravae g,

2) ISEIHRSA 3k T YU 0T GEIeA.

3) TS Heb SUST UTHUTIhT UgTe.

Y. 1) WTeiiet SRTUA! ShiUTdgl agt I9- |, [10]
) fomuETET Fet Som we, e, S5 snifon AT T aitet fauue
2.
i) T i)  oTeheror
i) o=TERoT 1v) IR
q)  UIEHIAT e a&]_ 30T Jen e URYul wifEdt JuarErdt areRet! ST |Jen
RN .............. .
i) i ™ i) AR
i) iR e iv) fERwd e
®) AR AT U ........ i
) wem i) et
i) T iv) Hgut wen
g) e, agM, fasrd, e TRUTHEA SFavia gral
i) wmRTs i) s
ii)  ifeen iv) wfR
7)) fmom. T foguAmed =rerum=n T miEi fen o ufskEn e,
i)  oTchetol i) o=reROT
i) AT iv) e



W) IR TS TR AT T $—TIERT SR .oeeneeens TR,
i) e i) @i
i) aTEE 1v) <9k
T)  Han fauurT fashER S, qurem da, S e Snfon deien foeeE s
TUEN ... T YR HeAl STl
) SERATYTE uew i) RIS Teh
i) TUTEAITHE Tew iv) e ug gesh
1) YRR A TR TRECD T R ... Y AR
D R i)
i) ot iv) RicTRran
1<) JOUUOT F Sete T INYHh AT ATURTER T ST,
) B aem i) et
i) wTETTe weam iv) dewTse
q) G § SR oo ey 31
i) oS i) T®
1) gRATH v) =&
)  ToRoTiERt, ST ST CRTR v, SIS IS0 3
i) URe 5E i) wedtsE
i) Safrer sig iv) g
o) ETHIRTR HIETHIUR! g HIEaH STarwnties Tt fohan sahian Sidia s a9
frefaram @ s=Edie Sueey e 3d, & T ..., R WU
i) w@-Ffdamem i) Scad wemm
i) BT A iv) IEmoT—Saer wmeTR
Y.2) Weiiet ATaden! SHivTdg! urel 99 Eiea. [25]
) INYFF TEEEE A HERT T .
F) < fore : TRRIHS HIaHE giveh.
F) AR ATdehal $I8 .
g) R TR e sRa?
3) A [OUUHTEHNE U SATegH SAgd ?
%) forerEeiel STiea SEeaE wE w.
7) froum srkeu=h afvres wE =@
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Y.3) @ieiiet |1a Tehl ShIUTa Ut U9 |, [25]
HA) AR T iR T w0
F) IR T HET TAR LT ?
&) & forel : sfegeiaizm et A giea.
g) TR saraa utthan wE .
3) Oan fouuETEn 7P’s HeReuAt TS .
®) e (Design) a7 T8 &
) NTHTeAT AT HIEIHT feraue wus &,

Y.4) @reAtel S0kl ShIVIATE! Tsh T9H Al [10]
) B2B amfut B2C damefiet wiehml aui .

q) UTEERTEA TohHieR STTERIdien goTRT TRUT T8 .
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T.Y.B.Com. (SODL)

306 K : INSURANCE, TRANSPORT AND TOURISM - 111

(2019 Pattern) (Annual System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following questions : [10x1=10]
a) Whatis customer Ethical Behavior?
b) Define Risk Management.

c) Whatis meant by underwriting?

d) What is guaranteed issue insurance?
e) Define Insurance Market.

f)  What are Reinsurers?

g)  Who is the Surveyor?

h) Define Insurance Ombudsman.

1)  Write full form of IRDA.

7)) Define Foreign direct investment.

k) What is Tour Package.

)  Define Tour Marketing.

PTO.



02) Attempt any five out of Seven from the following : [5x5=25]

a) State the principles of underwriting.

b) State the challenges of privatization of insurance in India.
c) Which documents are required for foreign tour?

d) Describe the types of tour packages.

e)  Write a short note on career in Tour Marketing.

f)  Explain the objective of IRDA.

g) Explain the importance of foreign direct investment.

03) Attempt any five out of Seven from the following : [5x5=25]
a)  Which factors are affecting the tour packages formulation.
b) State the functioning of Right To Information related to insurance.
c) Explain the Different types of Insurance customers.
d) Write a short note on ‘Future of Insurance Business in India’.
e) Explain the benefits of the Tour brochure.
f)  Explain the Concept of the Market Segmentation.

g)  Write a short note on career in Tour Guiding.

04) Attempt any one out of two from the following : [1x10=10]

a) Describe the tourist buying behavior and the role of tour operator in
details.

b) Discuss the challenges and future of insurance business in India.

VOV
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T.Y.B.Com. (SODL)
306 K : INSURANCE, TRANSPORT AND TOURISM - II1
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(TS EUTR)

9% : 3 A/ /TR IO ;70
guat:- 1) Hd U A sravae g,

2) ISEIHRSA 3k T YU 0T GEIeA.

3) TRWiETd! Yo TS Seuten uErel.

. 1) WIciiet 99T SRTIA! ShivTeTe! g8t 99 Hiea. [10x1=10]
) WTERTS iR e U e ?
) TG AU TS HE ?
F) gH/STEIE U I ?

g) o o mv™ w e

g) o aom e e

W) GATIHT el TEUTS T ?

T)  EATH Hal HIUT A ?

V) fom eremuret e foran.

@) IRDA = yui @&y fergt.

d)  Teae TRy Jaaues Sre ot
d)  Ued Yokl WU ®E?

o) uded famurTh wmEn forgt.



¥.2) Wil Sateh! HIvRE ure gy W o [5x5=25]
) ISR d forgt.
q) HRATIS [oramean TR JTegH |,
%) T T S T S
¥) Uded Uchoel UhR U,
3) WA fuue AR du o
%) IRDA < 3fige We &
F) U Wehid AU HEw T .

Y. 3) Wiciel I SIS U SvErE I . [5x5=25]
HA) HIUTHT UEHTT TS Yehsl dIR HUIATER TRUTH Fial.
7) forarel watem wifedt sttt @ forar.
&) o wgewr fafay wer o
T) WRAWA o SaaEm v -3y fomn.

Z)  UHeA Wilgdt U WrEIe fora.
%) fgum faarem deeun w5
a) e AwigA & fora.

Y.4) TiciicTueh! Shivargt Ush T9a forgt. [1x10=10]

) UHCHTAN TEEA I STUT Uier STtRetsan Yt queieiar o .
F) HRATA o1 ST e ST HiTsaTagged Tt .
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